Honors Geometry
8.1-8.4 - Extra Practice
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12.  For the rectangular solid shown, find the length of DF. H G
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13.  Adiagonal of a square has length 8. Find the length of a side.
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14.  State whether a triangle with sides of the given lengths is acute, right or obtuse.
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15.  Arright triangle has sides whose lengths are represented by n®=1,2n and n® + 1. If the length of the
longer leg is 48, find the lengths of the shorter leg and the hypotenuse.
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16.  Find each of the following in simplest form.
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a. If BD = 4, find AD
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c If AB = 20, find CD
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"In ACDE , m£C =90, m<£ =60, and mZE =30. Which side of the triangle is the longer leg?
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A side of a square has iength 3. Find the length of a diagonal.
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A right triangle has legs of 5 and 12. Find the length of median and altitude to its hypotenuse.
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Use the diagram to find the given lengths.
a. ifa=8andb=6, findc. _
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Angela took a shortcut by walking along the diagonal of a 30m by 16m rectangular field. How much
farther would she have had to walk if she had walked along the edge of the field?
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A right triangle has the side lengths of 3n, 2n and /137, Find the length of each side.
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,23. 7 The diagram shows four 45-45-90 triangles.
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a)if OA is 2, find EO, b} if EQ is8fMnd OA.
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24, Q is the center of square ABCD, and VO is perpendicular to the piane of the square. Find OE, the
distance from 0 to the plane of triangle VBC.

o+ AV &
0=V s o e
gE% - \".l- , ::.OE -
Jo— = 30 10 ‘B
EX= 7.5

25, Aright trlangle has the side Iengths of (4n — 4), 2n, and V13n, rmd the length of each side.
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26.  Arhombus has a perimeter of 325, and one of its angies is 120°. Find the lengths of both diagonals.
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27, The length of the shorter diagonal of a rhombus is 24. If one of its angles is 60°, find the length of its
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28, A regular hexagon has a side length of 8. Find the distance from the center of the hexagon to the side.
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o the plane of the square. Find OE, the

29, 0 is the center of square ABCQ, and VO is perpendicul
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